Score: Name: Date:

$$9 \times 12 =$$

$$9 \times 11 =$$

$$11 \times 9 =$$

$$12 \times 11 =$$

$$12 \times 10 =$$

$$8 \times 12 =$$

$$10 \times 11 =$$

$$10 \times 12 =$$

$$12 \times 12 =$$

$$10 \times 9 =$$

$$9 \times 9 =$$

$$10 \times 8 =$$

$$9 \times 10 =$$

$$12 \times 8 =$$

$$11 \times 12 =$$

$$2 \times 10 =$$

$$3 \times 10 =$$

$$4 \times 1 =$$

$$11 \times 8 =$$

$$9 \times 2 =$$

$$7 \times 9 =$$

$$12 \times 9 =$$

$$3 \times 4 =$$

$$11 \times 3 =$$

$$12 \times 2 =$$

$$4 \times 11 =$$

$$6 \times 4 =$$

$$8 \times 11 =$$

$$1 \times 10 =$$

$$1 \times 1 =$$

$$3 \times 2 =$$

$$7 \times 2 =$$

$$2 \times 1 =$$

$$8 \times 10 =$$

$$1 \times 11 =$$

$$1 \times 3 =$$

$$11 \times 10 =$$

$$3 \times 11 =$$

$$10 \times 2 =$$

$$12 \times 7 =$$

$$5 \times 4 =$$

$$10 \times 7 =$$

$$8 \times 8 =$$

$$11 \times 7 =$$

$$7 \times 4 =$$

$$2 \times 11 =$$

$$8 \times 4 =$$

$$4 \times 12 =$$

Multiplying by 1 to 12 (A) Answers

Name: _____ Date: ____ Score: ____

$$9 \times 12 = 108$$

$$9 \times 11 = 99$$

$$11 \times 9 = 99$$

$$12 \times 11 = \boxed{132}$$

$$12 \times 10 = \boxed{120}$$

$$8 \times 12 = 96$$

$$11 \times 11 = \boxed{121}$$

$$10 \times 11 = \boxed{110}$$

$$10 \times 12 = \boxed{120}$$

$$12 \times 12 = 144$$

$$10 \times 9 = 90$$

$$9 \times 9 = \boxed{81}$$

$$10 \times 8 = 80$$

$$9 \times 10 = 90$$

$$12 \times 8 = 96$$

$$6 \times 10 = 60$$

$$11 \times 12 = 132$$

$$2 \times 10 = \boxed{20}$$

$$3 \times 10 = 30$$

$$4 \times 1 = 4$$

$$11 \times 8 = \boxed{88}$$

$$9 \times 2 = 18$$

$$7 \times 9 = 63$$

$$12 \times 9 = |108|$$

$$3 \times 4 = 12$$

$$11 \times 3 = \boxed{33}$$

$$12 \times 2 = 24$$

$$4 \times 11 = 44$$

$$6 \times 4 = 24$$

$$8 \times 11 = 88$$

$$1 \times 10 = 10$$

$$1 \times 1 = \boxed{1}$$

$$3 \times 2 = 6$$

$$7 \times 2 = \boxed{14}$$

$$2 \times 1 = \boxed{2}$$

$$8 \times 10 = 80$$

$$1 \times 11 = \boxed{11}$$

$$1 \times 3 = \boxed{3}$$

$$11 \times 10 = |110|$$

$$3 \times 11 = 33$$

$$10 \times 2 = 20$$

$$12 \times 7 = 84$$

$$5 \times 4 = 20$$

$$10 \times 7 = | 70$$

$$8 \times 8 = 64$$

$$11 \times 7 = \boxed{77}$$

$$7 \times 4 = 28$$

$$2 \times 11 = \boxed{22}$$

$$8 \times 4 = \boxed{32}$$

$$4 \times 12 = 48$$

Multiplying by 1 to 12 (B)	Multip?	lying	by 1	to	12	(B)
----------------------------	---------	-------	------	----	----	-----

Name: ____ Date: ____ Score: ____

$$9 \times 10 =$$

$$9 \times 8 =$$

$$8 \times 11 =$$

$$8 \times 9 =$$

$$8 \times 10 =$$

$$10 \times 8 =$$

$$11 \times 9 =$$

$$12 \times 8 =$$

$$10 \times 12 =$$

$$11 \times 10 =$$

$$12 \times 12 =$$

$$10 \times 9 =$$

$$9 \times 1 =$$

$$5 \times 1 =$$

$$4 \times 7 =$$

$$1 \times 9 =$$

$$8 \times 8 =$$

$$9 \times 7 =$$

$$12 \times 6 =$$

$$10 \times 10 =$$

$$11 \times 8 =$$

$$4 \times 11 =$$

$$4 \times 9 =$$

$$5 \times 3 =$$

$$12 \times 10 =$$

$$3 \times 8 =$$

$$5 \times 4 =$$

$$6 \times 8 =$$

$$11 \times 12 =$$

$$3 \times 2 =$$

$$5 \times 5 =$$

$$1 \times 5 =$$

$$4 \times 4 =$$

$$2 \times 1 =$$

$$12 \times 9 =$$

$$12 \times 11 =$$

$$1 \times 4 =$$

$$4 \times 6 =$$

$$11 \times 4 =$$

$$9 \times 12 =$$

$$9 \times 4 =$$

$$8 \times 12 =$$

$$10 \times 11 =$$

$$5 \times 8 =$$

$$6 \times 6 =$$

$$7 \times 3 =$$

$$2 \times 7 =$$

$$2 \times 12 =$$

Multiplying by 1 to 12 (B) Answers

Name: _____ Date: ____ Score: ____

$$9 \times 10 = 90$$

$$9 \times 8 = 72$$

$$8 \times 11 = 88$$

$$8 \times 9 = 72$$

$$8 \times 10 = 80$$

$$10 \times 8 = 80$$

$$11 \times 9 = 99$$

$$12 \times 8 = 96$$

$$10 \times 12 = \boxed{120}$$

$$11 \times 10 = 110$$

$$12 \times 12 = 144$$

$$10 \times 9 = 90$$

$$9 \times 1 = \boxed{9}$$

$$5 \times 1 = \boxed{5}$$

$$4 \times 7 = 28$$

$$9 \times 11 = 99$$

$$1 \times 9 = \boxed{9}$$

$$8 \times 8 = \boxed{64}$$

$$9 \times 7 = 63$$

$$11 \times 11 = \boxed{121}$$

$$12 \times 6 = \boxed{72}$$

$$10 \times 10 = 100$$

$$11 \times 8 = 88$$

$$4 \times 11 = 44$$

$$4 \times 9 = 36$$

$$5 \times 3 = \boxed{15}$$

$$12 \times 10 = 120$$

$$3 \times 8 = 24$$

$$5 \times 4 = 20$$

$$6 \times 8 = 48$$

$$11 \times 12 = 132$$

$$3 \times 2 = 6$$

$$5 \times 5 = 25$$

$$1 \times 5 = \boxed{5}$$

$$4 \times 4 = | 16$$

$$2 \times 1 = 2$$

$$12 \times 9 = |108|$$

$$12 \times 11 = |132|$$

$$1 \times 4 = \boxed{4}$$

$$4 \times 6 = 24$$

$$11 \times 4 = \boxed{44}$$

$$9 \times 12 = 108$$

$$9 \times 4 = 36$$

$$8 \times 12 = 96$$

$$10 \times 11 = 110$$

$$5 \times 8 = | 40$$

$$6 \times 6 = 36$$

$$7 \times 3 = 21$$

$$2 \times 7 = 14$$

$$2 \times 12 = 24$$

Mu]	ltip]	lying	by	1	to	12	(C)
		-JO	-)				ヽ‐ノ

Name: Date: Score:

$$9 \times 11 =$$

$$12 \times 9 =$$

$$9 \times 9 =$$

$$11 \times 8 =$$

$$8 \times 9 =$$

$$12 \times 12 =$$

$$8 \times 12 =$$

$$12 \times 11 =$$

$$10 \times 9 =$$

$$9 \times 12 =$$

$$11 \times 10 =$$

$$10 \times 10 =$$

$$11 \times 11 =$$

$$11 \times 9 =$$

$$4 \times 5 =$$

$$7 \times 12 =$$

$$10 \times 3 =$$

$$8 \times 4 =$$

$$12 \times 4 =$$

$$6 \times 12 =$$

$$4 \times 1 =$$

$$12 \times 10 =$$

$$6 \times 9 =$$

$$11 \times 3 =$$

$$5 \times 2 =$$

$$2 \times 4 =$$

$$11 \times 2 =$$

$$6 \times 1 =$$

$$10 \times 12 =$$

$$3 \times 4 =$$

$$9 \times 10 =$$

$$7 \times 2 =$$

$$5 \times 6 =$$

$$10 \times 11 =$$

$$1 \times 9 =$$

$$6 \times 4 =$$

$$5 \times 4 =$$

$$7 \times 8 =$$

$$5 \times 7 =$$

$$3 \times 2 =$$

$$1 \times 3 =$$

$$6 \times 2 =$$

$$3 \times 3 =$$

$$11 \times 5 =$$

$$4 \times 3 =$$

$$10 \times 6 =$$

$$2 \times 12 =$$

$$10 \times 7 =$$

$$2 \times 8 =$$

$$2 \times 6 =$$

Multiplying by 1 to 12 (C) Answers

Name: _____ Date: ____ Score: ____

$$9 \times 11 = 99$$

$$12 \times 9 = |108|$$

$$9 \times 9 = 81$$

$$11 \times 8 = 88$$

$$8 \times 9 = 72$$

$$12 \times 12 = 144$$

$$8 \times 12 = 96$$

$$12 \times 11 = |132|$$

$$10 \times 9 = 90$$

$$9 \times 12 = 108$$

$$11 \times 10 = 110$$

$$10 \times 10 = 100$$

$$11 \times 11 = \boxed{121}$$

$$11 \times 9 = 99$$

$$4 \times 5 = 20$$

$$7 \times 12 = 84$$

$$10 \times 3 = \boxed{30}$$

$$8 \times 4 = 32$$

$$12 \times 4 = 48$$

$$6 \times 12 = 72$$

$$4 \times 1 = 4$$

$$12 \times 10 = \boxed{120}$$

$$6 \times 9 = 54$$

$$11 \times 3 = \boxed{33}$$

$$5 \times 2 = \boxed{10}$$

$$2 \times 4 = \boxed{8}$$

$$11 \times 2 = \boxed{22}$$

$$6 \times 1 = 6$$

$$10 \times 12 = \boxed{120}$$

$$3 \times 4 = 12$$

$$9 \times 10 = 90$$

$$7 \times 2 = 14$$

$$5 \times 6 = 30$$

$$10 \times 11 = 110$$

$$1 \times 9 = 9$$

$$6 \times 4 = 24$$

$$5 \times 4 = 20$$

$$7 \times 8 = 56$$

$$5 \times 7 = 35$$

$$3 \times 2 = 6$$

$$1 \times 3 = 3$$

$$6 \times 2 = \boxed{12}$$

$$3 \times 3 = 9$$

$$11 \times 5 = 55$$

$$4 \times 3 = 12$$

$$10 \times 6 = \boxed{60}$$

$$2 \times 12 = 24$$

$$10 \times 7 = \boxed{70}$$

$$2 \times 8 = \boxed{16}$$

$$2 \times 6 = 12$$

Mul	ltip]	lying	bv	1	to	12	(D)
111 (1)	LLIP.	75	$\boldsymbol{\mathcal{I}}_{\boldsymbol{\mathcal{I}}}$	_	CO		(-)

Name: _____ Date: ____ Score: ____

$$10 \times 8 =$$

$$10 \times 11 =$$

$$8 \times 12 =$$

$$12 \times 8 =$$

$$10 \times 9 =$$

$$12 \times 10 =$$

$$12 \times 9 =$$

$$12 \times 12 =$$

$$11 \times 8 =$$

$$9 \times 8 =$$

$$8 \times 10 =$$

$$11 \times 9 =$$

$$9 \times 9 =$$

$$7 \times 8 =$$

$$6 \times 4 =$$

$$7 \times 7 =$$

$$6 \times 9 =$$

$$8 \times 8 =$$

$$1 \times 4 =$$

$$5 \times 7 =$$

$$8 \times 11 =$$

$$10 \times 10 =$$

$$2 \times 2 =$$

$$5 \times 12 =$$

$$3 \times 9 =$$

$$7 \times 9 =$$

$$11 \times 10 =$$

$$7 \times 4 =$$

$$11 \times 11 =$$

$$10 \times 3 =$$

$$12 \times 5 =$$

$$9 \times 11 =$$

$$6 \times 2 =$$

$$9 \times 4 =$$

$$5 \times 6 =$$

$$10 \times 6 =$$

$$2 \times 4 =$$

$$8 \times 6 =$$

$$8 \times 9 =$$

$$2 \times 8 =$$

$$9 \times 10 =$$

$$10 \times 7 =$$

$$6 \times 12 =$$

$$6 \times 11 =$$

$$9 \times 6 =$$

$$4 \times 3 =$$

$$4 \times 7 =$$

$$11 \times 12 = \square$$

$$2 \times 1 =$$

Multiplying by 1 to 12 (D) Answers

Name: _____ Date: ____ Score: ____

$$10 \times 8 = 80$$

$$10 \times 11 = 110$$

$$8 \times 12 = 96$$

$$12 \times 8 = 96$$

$$10 \times 9 = 90$$

$$12 \times 10 = 120$$

$$12 \times 9 = 108$$

$$12 \times 12 = 144$$

$$11 \times 8 = 88$$

$$9 \times 8 = 72$$

$$8 \times 10 = 80$$

$$11 \times 9 = 99$$

$$9 \times 9 = \boxed{81}$$

$$7 \times 8 = \boxed{56}$$

$$6 \times 4 = \boxed{24}$$

$$7 \times 7 = 49$$

$$6 \times 9 = \boxed{54}$$

$$8 \times 8 = \boxed{64}$$

$$1 \times 4 = 4$$

$$5 \times 7 = \boxed{35}$$

$$8 \times 11 = 88$$

$$10 \times 10 = 100$$

$$2 \times 2 = \boxed{4}$$

$$5 \times 12 = 60$$

$$3 \times 9 = 27$$

$$7 \times 9 = \boxed{63}$$

$$11 \times 10 = \boxed{110}$$

$$7 \times 4 = 28$$

$$11 \times 11 = \boxed{121}$$

$$6 \times 8 = 48$$

$$10 \times 3 = 30$$

$$12 \times 5 = 60$$

$$9 \times 11 = 99$$

$$6 \times 2 = \boxed{12}$$

$$9 \times 4 = 36$$

$$5 \times 6 = 30$$

$$10 \times 6 = \boxed{60}$$

$$2 \times 4 = \boxed{8}$$

$$8 \times 6 = 48$$

$$8 \times 9 = 72$$

$$2 \times 8 = \boxed{16}$$

$$9 \times 10 = 90$$

$$10 \times 7 = 70$$

$$6 \times 12 = | 72$$

$$6 \times 11 = 66$$

$$9 \times 6 = 54$$

$$4 \times 3 = 12$$

$$4 \times 7 = 28$$

$$11 \times 12 = |132|$$

$$2 \times 1 = 2$$

	Multip	lying	by 1	to	12	(E)
--	--------	-------	------	----	----	-----

Name:

Date:

Score:

$$9 \times 12 =$$

$$11 \times 10 =$$

$$9 \times 9 =$$

$$10 \times 9 =$$

$$8 \times 8 =$$

$$9 \times 8 =$$

$$8 \times 11 =$$

$$12 \times 11 =$$

$$12 \times 10 =$$

$$12 \times 12 =$$

$$10 \times 12 =$$

$$11 \times 9 =$$

$$10 \times 10 =$$

$$11 \times 11 =$$

$$10 \times 11 =$$

$$9 \times 5 =$$

$$6 \times 7 =$$

$$4 \times 1 =$$

$$6 \times 2 =$$

$$1 \times 2 =$$

$$3 \times 11 =$$

$$1 \times 8 =$$

$$7 \times 5 =$$

$$2 \times 11 =$$

$$11 \times 2 =$$

$$8 \times 9 =$$

$$8 \times 4 =$$

$$1 \times 10 =$$

$$5 \times 7 =$$

$$8 \times 1 =$$

$$2 \times 2 =$$

$$3 \times 4 =$$

$$9 \times 11 =$$

$$2 \times 12 =$$

$$11 \times 6 =$$

$$7 \times 4 =$$

$$11 \times 8 =$$

$$10 \times 6 =$$

$$7 \times 7 =$$

$$7 \times 6 =$$

$$12 \times 5 =$$

$$4 \times 11 =$$

$$10 \times 5 =$$

$$4 \times 4 =$$

$$4 \times 3 =$$

$$7 \times 1 =$$

$$4 \times 6 =$$

$$1 \times 4 =$$

$$6 \times 9 =$$

$$5 \times 2 =$$

Multiplying by 1 to 12 (E) Answers

Name: Date: Score:

$$9 \times 12 = 108$$

$$11 \times 10 = 110$$

$$9 \times 9 = 81$$

$$10 \times 9 = 90$$

$$8 \times 8 = 64$$

$$9 \times 8 = 72$$

$$8 \times 11 = 88$$

$$12 \times 11 = \boxed{132}$$

$$12 \times 10 = \boxed{120}$$

$$12 \times 12 = 144$$

$$10 \times 12 = 120$$

$$11 \times 9 = \boxed{99}$$

$$10 \times 10 = 100$$

$$11 \times 11 = \boxed{121}$$

$$10 \times 11 = 110$$

$$9 \times 5 = \boxed{45}$$

$$6 \times 7 = 42$$

$$4 \times 1 = 4$$

$$6 \times 2 = \boxed{12}$$

$$1 \times 2 = \boxed{2}$$

$$3 \times 11 = \boxed{33}$$

$$1 \times 8 = 8$$

$$7 \times 5 = 35$$

$$2 \times 11 = | 22$$

$$11 \times 2 = 22$$

$$8 \times 9 = \boxed{72}$$

$$8 \times 4 = 32$$

$$1 \times 10 = 10$$

$$5 \times 7 = \boxed{35}$$

$$8 \times 1 = 8$$

$$2 \times 2 = 4$$

$$3 \times 4 = \boxed{12}$$

$$9 \times 11 = 99$$

$$2 \times 12 = 24$$

$$11 \times 6 = 66$$

$$7 \times 4 = 28$$

$$11 \times 8 = 88$$

$$10 \times 6 = 60$$

$$7 \times 7 = \boxed{49}$$

$$7 \times 6 = 42$$

$$12 \times 5 = \boxed{60}$$

$$4 \times 11 = \boxed{44}$$

$$10 \times 5 = \boxed{50}$$

$$4 \times 4 = 16$$

$$4 \times 3 = 12$$

$$7 \times 1 = \boxed{7}$$

$$4 \times 6 = 24$$

$$1 \times 4 = 4$$

$$6 \times 9 = 54$$

$$5 \times 2 = 10$$

Multip ¹	lying	by 1	to	12	(F)
	-)0				\ - /

Name:

Date:

Score:

$$12 \times 8 =$$

$$10 \times 11 =$$

$$11 \times 10 =$$

$$11 \times 9 =$$

$$9 \times 10 =$$

$$12 \times 12 =$$

$$8 \times 8 =$$

$$11 \times 12 =$$

$$11 \times 8 =$$

$$10 \times 10 =$$

$$8 \times 11 =$$

$$12 \times 11 =$$

$$9 \times 12 =$$

$$9 \times 9 =$$

$$10 \times 12 =$$

$$8 \times 12 =$$

$$10 \times 9 =$$

$$1 \times 12 =$$

$$6 \times 3 =$$

$$12 \times 9 =$$

$$10 \times 1 =$$

$$12 \times 4 =$$

$$12 \times 2 =$$

$$10 \times 8 =$$

$$3 \times 4 =$$

$$4 \times 1 =$$

$$6 \times 7 =$$

$$7 \times 3 =$$

$$5 \times 5 =$$

$$12 \times 6 =$$

$$8 \times 7 =$$

$$12 \times 7 =$$

$$5 \times 8 =$$

$$6 \times 10 =$$

$$6 \times 6 =$$

$$9 \times 7 =$$

$$9 \times 11 =$$

$$1 \times 11 =$$

$$8 \times 10 =$$

$$6 \times 12 =$$

$$9 \times 8 =$$

$$3 \times 3 =$$

$$12 \times 10 =$$

$$7 \times 12 =$$

$$8 \times 1 =$$

$$1 \times 1 =$$

$$7 \times 10 =$$

$$4 \times 10 =$$

$$8 \times 3 =$$

$$6 \times 4 =$$

Multiplying by 1 to 12 (F) Answers

Name: _____ Date: ____ Score: ____

$$12 \times 8 = 96$$

$$10 \times 11 = \boxed{110}$$

$$11 \times 10 = 110$$

$$11 \times 9 = 99$$

$$9 \times 10 = 90$$

$$12 \times 12 = 144$$

$$8 \times 8 = 64$$

$$11 \times 12 = |132|$$

$$11 \times 8 = 88$$

$$10 \times 10 = 100$$

$$8 \times 11 = 88$$

$$12 \times 11 = 132$$

$$9 \times 12 = \boxed{108}$$

$$9 \times 9 = 81$$

$$10 \times 12 = 120$$

$$8 \times 12 = 96$$

$$10 \times 9 = 90$$

$$1 \times 12 = \boxed{12}$$

$$6 \times 3 = \boxed{18}$$

$$12 \times 9 = 108$$

$$10 \times 1 = \boxed{10}$$

$$12 \times 4 = 48$$

$$12 \times 2 = 24$$

$$10 \times 8 = 80$$

$$3 \times 4 = 12$$

$$4 \times 1 = \boxed{4}$$

$$6 \times 7 = 42$$

$$7 \times 3 = \boxed{21}$$

$$5 \times 5 = \boxed{25}$$

$$12 \times 6 = \boxed{72}$$

$$8 \times 7 = 56$$

$$12 \times 7 = 84$$

$$5 \times 8 = 40$$

$$6 \times 10 = 60$$

$$6 \times 6 = 36$$

$$9 \times 7 = 63$$

$$9 \times 11 = 99$$

$$1 \times 11 = 11$$

$$8 \times 10 = 80$$

$$6 \times 12 = 72$$

$$9 \times 8 = 72$$

$$3 \times 3 = 9$$

$$12 \times 10 = 120$$

$$7 \times 12 = 84$$

$$8 \times 1 = 8$$

$$1 \times 1 = \boxed{1}$$

$$7 \times 10 = 70$$

$$4 \times 10 = \boxed{40}$$

$$8 \times 3 = 24$$

$$6 \times 4 = 24$$

Multip	olving	by 1	to	12	(G)
	-)0	- / -			(- /

Name: _____ Date: ____ Score: ____

$$11 \times 12 =$$

$$10 \times 11 =$$

$$8 \times 11 =$$

$$8 \times 8 =$$

$$10 \times 9 =$$

$$12 \times 8 =$$

$$9 \times 10 =$$

$$12 \times 12 =$$

$$12 \times 9 =$$

$$11 \times 8 =$$

$$11 \times 10 =$$

$$11 \times 11 =$$

$$3 \times 7 =$$

$$12 \times 11 =$$

$$3 \times 6 =$$

$$9 \times 12 =$$

$$10 \times 4 =$$

$$4 \times 6 =$$

$$1 \times 2 =$$

$$10 \times 12 =$$

$$8 \times 10 =$$

$$8 \times 2 =$$

$$9 \times 3 =$$

$$9 \times 4 =$$

$$10 \times 7 =$$

$$7 \times 12 =$$

$$12 \times 10 =$$

$$7 \times 7 =$$

$$8 \times 4 =$$

$$7 \times 2 =$$

$$6 \times 12 =$$

$$3 \times 4 =$$

$$9 \times 8 =$$

$$6 \times 11 =$$

$$10 \times 1 =$$

$$11 \times 9 =$$

$$3 \times 1 =$$

$$8 \times 5 =$$

$$5 \times 8 =$$

$$7 \times 6 =$$

$$12 \times 1 =$$

$$2 \times 5 =$$

$$4 \times 1 =$$

$$3 \times 3 =$$

$$12 \times 4 =$$

$$6 \times 5 =$$

$$4 \times 7 =$$

$$11 \times 2 =$$

$$9 \times 1 =$$

$$1 \times 1 =$$

Multiplying by 1 to 12 (G) Answers

Name: _____ Date: ____ Score: ____

$$11 \times 12 = \boxed{132}$$

$$10 \times 11 = 110$$

$$8 \times 11 = 88$$

$$8 \times 8 = 64$$

$$10 \times 9 = 90$$

$$12 \times 8 = 96$$

$$9 \times 10 = 90$$

$$12 \times 12 = 144$$

$$12 \times 9 = 108$$

$$11 \times 8 = 88$$

$$11 \times 10 = 110$$

$$11 \times 11 = \boxed{121}$$

$$3 \times 7 = \boxed{21}$$

$$12 \times 11 = \boxed{132}$$

$$3 \times 6 = 18$$

$$9 \times 12 = \boxed{108}$$

$$10 \times 4 = \boxed{40}$$

$$4 \times 6 = 24$$

$$1 \times 2 = \boxed{2}$$

$$10 \times 12 = \boxed{120}$$

$$8 \times 10 = 80$$

$$8 \times 2 = \boxed{16}$$

$$9 \times 3 = \boxed{27}$$

$$9 \times 4 = 36$$

$$10 \times 7 = 70$$

$$7 \times 12 = 84$$

$$12 \times 10 = 120$$

$$7 \times 7 = 49$$

$$8 \times 4 = 32$$

$$7 \times 2 = 14$$

$$6 \times 12 = 72$$

$$3 \times 4 = 12$$

$$9 \times 8 = 72$$

$$6 \times 11 = 66$$

$$10 \times 1 = 10$$

$$11 \times 9 = 99$$

$$3 \times 1 = \boxed{3}$$

$$8 \times 5 = 40$$

$$5 \times 8 = | 40$$

$$7 \times 6 = 42$$

$$12 \times 1 = |12|$$

$$2 \times 5 = \boxed{10}$$

$$4 \times 1 = 4$$

$$3 \times 3 = 9$$

$$12 \times 4 = 48$$

$$6 \times 5 = \boxed{30}$$

$$4 \times 7 = \boxed{28}$$

$$11 \times 2 = \boxed{22}$$

$$9 \times 1 = \boxed{9}$$

$$1 \times 1 = 1$$

Multiplying	by 1	to 12	(H)
-------------	------	-------	-----

Name: ____ Date: ____ Score: ____

$$10 \times 8 =$$

$$12 \times 10 =$$

$$12 \times 9 =$$

$$10 \times 12 =$$

$$11 \times 8 =$$

$$11 \times 12 =$$

$$9 \times 9 =$$

$$12 \times 12 =$$

$$12 \times 11 =$$

$$9 \times 8 =$$

$$11 \times 9 =$$

$$10 \times 10 =$$

$$9 \times 11 =$$

$$11 \times 10 =$$

$$8 \times 9 =$$

$$7 \times 7 =$$

$$6 \times 10 =$$

$$8 \times 11 =$$

$$6 \times 12 =$$

$$2 \times 9 =$$

$$12 \times 8 = \boxed{}$$

$$6 \times 9 =$$

$$9 \times 10 =$$

$$6 \times 7 =$$

$$8 \times 12 =$$

$$6 \times 1 =$$

$$7 \times 2 =$$

$$7 \times 6 =$$

$$1 \times 8 =$$

$$5 \times 7 =$$

$$2 \times 4 =$$

$$10 \times 4 =$$

$$5 \times 12 =$$

$$1 \times 7 =$$

$$3 \times 11 =$$

$$11 \times 5 =$$

$$8 \times 3 =$$

$$8 \times 7 =$$

$$9 \times 12 =$$

$$4 \times 2 =$$

$$6 \times 8 =$$

$$3 \times 1 =$$

$$1 \times 4 =$$

$$10 \times 11 =$$

$$2 \times 3 =$$

$$10 \times 2 =$$

$$2 \times 11 =$$

$$4 \times 9 =$$

$$2 \times 12 =$$

Multiplying by 1 to 12 (H) Answers

Name: _____ Date: ____ Score: ____

$$10 \times 8 = 80$$

$$12 \times 10 = \boxed{120}$$

$$12 \times 9 = |108|$$

$$10 \times 12 = \boxed{120}$$

$$11 \times 8 = 88$$

$$11 \times 12 = \boxed{132}$$

$$9 \times 9 = 81$$

$$12 \times 12 = 144$$

$$12 \times 11 = \boxed{132}$$

$$9 \times 8 = 72$$

$$11 \times 9 = 99$$

$$10 \times 10 = 100$$

$$9 \times 11 = 99$$

$$11 \times 10 = \boxed{110}$$

$$8 \times 9 = 72$$

$$7 \times 7 = \boxed{49}$$

$$6 \times 10 = 60$$

$$8 \times 11 = \boxed{88}$$

$$6 \times 12 = 72$$

$$2 \times 9 = \boxed{18}$$

$$12 \times 8 = 96$$

$$6 \times 9 = 54$$

$$9 \times 10 = 90$$

$$6 \times 7 = 42$$

$$8 \times 12 = 96$$

$$6 \times 1 = \boxed{6}$$

$$7 \times 2 = \boxed{14}$$

$$7 \times 6 = 42$$

$$1 \times 8 = \boxed{8}$$

$$5 \times 7 = \boxed{35}$$

$$2 \times 4 = 8$$

$$10 \times 4 = 40$$

$$5 \times 12 = 60$$

$$1 \times 7 = \boxed{7}$$

$$3 \times 11 = 33$$

$$11 \times 5 = 55$$

$$8 \times 3 = 24$$

$$8 \times 7 = 56$$

$$9 \times 12 = |108|$$

$$4 \times 2 = 8$$

$$6 \times 8 = 48$$

$$3 \times 1 = \boxed{3}$$

$$1 \times 4 = 4$$

$$11 \times 11 = |121$$

$$10 \times 11 = \boxed{110}$$

$$2 \times 3 = \boxed{6}$$

$$10 \times 2 = 20$$

$$2 \times 11 = \boxed{22}$$

$$4 \times 9 = 36$$

$$2 \times 12 = 24$$

Mu]	ltipl	ying	bv	1	to	12	(I)
IVI	LUPI,	<i>y</i> 6	$\boldsymbol{\mathcal{I}}_{j}$	_	U		∖∸ノ

Name: Date: Score:

$$9 \times 12 =$$

$$11 \times 11 =$$

$$8 \times 11 =$$

$$11 \times 9 =$$

$$8 \times 9 =$$

$$11 \times 12 =$$

$$12 \times 11 =$$

$$9 \times 8 =$$

$$9 \times 10 =$$

$$8 \times 8 =$$

$$3 \times 7 =$$

$$10 \times 11 =$$

$$1 \times 1 =$$

$$10 \times 12 =$$

$$8 \times 2 =$$

$$9 \times 7 =$$

$$5 \times 7 =$$

$$7 \times 4 =$$

$$8 \times 7 =$$

$$8 \times 10 =$$

$$11 \times 3 =$$

$$8 \times 12 =$$

$$2 \times 4 =$$

$$5 \times 8 =$$

$$1 \times 9 =$$

$$7 \times 6 =$$

$$4 \times 5 =$$

$$7 \times 9 =$$

$$5 \times 11 =$$

$$9 \times 9 =$$

$$5 \times 2 =$$

$$10 \times 1 =$$

$$4 \times 1 =$$

$$8 \times 3 =$$

$$10 \times 8 =$$

$$6 \times 12 =$$

$$11 \times 8 =$$

$$11 \times 7 =$$

$$12 \times 12 =$$

$$10 \times 10 =$$

$$7 \times 7 =$$

$$5 \times 12 =$$

$$4 \times 4 =$$

$$6 \times 5 =$$

$$3 \times 3 =$$

$$7 \times 8 =$$

$$7 \times 10 =$$

$$7 \times 3 =$$

$$3 \times 5 =$$

Multiplying by 1 to 12 (I) Answers

Name: _____ Date: ____ Score: ____

$$9 \times 12 = \boxed{108}$$

$$11 \times 11 = \boxed{121}$$

$$8 \times 11 = 88$$

$$11 \times 9 = 99$$

$$8 \times 9 = 72$$

$$11 \times 12 = 132$$

$$12 \times 11 = 132$$

$$9 \times 8 = 72$$

$$9 \times 10 = 90$$

$$8 \times 8 = \boxed{64}$$

$$3 \times 7 = 21$$

$$10 \times 11 = 110$$

$$1 \times 1 = 1$$

$$10 \times 12 = |120|$$

$$8 \times 2 = \boxed{16}$$

$$9 \times 7 = \boxed{63}$$

$$5 \times 7 = \boxed{35}$$

$$7 \times 4 = \boxed{28}$$

$$8 \times 7 = 56$$

$$8 \times 10 = 80$$

$$11 \times 3 = \boxed{33}$$

$$8 \times 12 = 96$$

$$2 \times 4 = \boxed{8}$$

$$5 \times 8 = 40$$

$$1 \times 9 = 9$$

$$7 \times 6 = \boxed{42}$$

$$4 \times 5 = 20$$

$$7 \times 9 = 63$$

$$5 \times 11 = 55$$

$$9 \times 9 = \boxed{81}$$

$$5 \times 2 = \boxed{10}$$

$$10 \times 1 = 10$$

$$4 \times 1 = 4$$

$$8 \times 3 = 24$$

$$10 \times 8 = 80$$

$$6 \times 12 = 72$$

$$11 \times 8 = 88$$

$$11 \times 7 = 77$$

$$12 \times 12 = \boxed{144}$$

$$10 \times 10 = 100$$

$$9 \times 11 = 99$$

$$7 \times 7 = 49$$

$$5 \times 12 = 60$$

$$4 \times 4 = 16$$

$$6 \times 5 = 30$$

$$3 \times 3 = 9$$

$$7 \times 8 = 56$$

$$7 \times 10 = 70$$

$$7 \times 3 = \boxed{21}$$

$$3 \times 5 = 15$$

Multiplying by 1 to 12 (J)

Name:

Date:

Score:

$$10 \times 11 =$$

$$8 \times 12 =$$

$$10 \times 9 =$$

$$11 \times 10 =$$

$$11 \times 9 =$$

$$11 \times 11 =$$

$$9 \times 10 =$$

$$8 \times 10 =$$

$$9 \times 9 =$$

$$8 \times 8 =$$

$$12 \times 12 =$$

$$9 \times 12 =$$

$$8 \times 9 =$$

$$9 \times 8 =$$

$$10 \times 10 =$$

$$11 \times 8 =$$

$$10 \times 12 =$$

$$5 \times 3 =$$

$$2 \times 3 =$$

$$4 \times 3 =$$

$$6 \times 3 =$$

$$5 \times 9 =$$

$$12 \times 5 =$$

$$10 \times 8 =$$

$$3 \times 7 =$$

$$1 \times 5 =$$

$$4 \times 10 =$$

$$8 \times 6 =$$

$$12 \times 10 =$$

$$10 \times 6 =$$

$$3 \times 4 =$$

$$3 \times 8 =$$

$$2 \times 10 =$$

$$4 \times 5 =$$

$$12 \times 1 =$$

$$6 \times 8 =$$

$$2 \times 1 =$$

$$12 \times 9 =$$

$$9 \times 3 =$$

$$4 \times 4 =$$

$$12 \times 8 =$$

$$4 \times 6 =$$

$$11 \times 4 =$$

$$4 \times 2 =$$

$$3 \times 9 =$$

$$11 \times 1 =$$

$$7 \times 4 =$$

$$10 \times 1 =$$

$$1 \times 6 =$$

Multiplying by 1 to 12 (J) Answers

Name: _____ Date: ____ Score: ____

$$10 \times 11 = \boxed{110}$$

$$8 \times 12 = 96$$

$$10 \times 9 = 90$$

$$11 \times 10 = \boxed{110}$$

$$11 \times 9 = 99$$

$$11 \times 11 = |121|$$

$$9 \times 10 = 90$$

$$8 \times 10 = 80$$

$$9 \times 11 = 99$$

$$9 \times 9 = 81$$

$$8 \times 8 = 64$$

$$12 \times 12 = 144$$

$$9 \times 12 = \boxed{108}$$

$$8 \times 9 = \boxed{72}$$

$$9 \times 8 = 72$$

$$10 \times 10 = |100|$$

$$11 \times 8 = \boxed{88}$$

$$10 \times 12 = 120$$

$$5 \times 3 = 15$$

$$2 \times 3 = 6$$

$$4 \times 3 = \boxed{12}$$

$$6 \times 3 = 18$$

$$5 \times 9 = 45$$

$$12 \times 5 = \begin{array}{|c|c|c|c|} 60 \end{array}$$

$$10 \times 8 = 80$$

$$3 \times 7 = \boxed{21}$$

$$1 \times 5 = \boxed{5}$$

$$4 \times 10 = 40$$

$$8 \times 6 = 48$$

$$12 \times 10 = 120$$

$$10 \times 6 = 60$$

$$3 \times 4 = 12$$

$$3 \times 8 = 24$$

$$2 \times 10 = \boxed{20}$$

$$4 \times 5 = 20$$

$$12 \times 1 = 12$$

$$6 \times 8 = 48$$

$$2 \times 1 = 2$$

$$12 \times 9 = |108|$$

$$9 \times 3 = 27$$

$$4 \times 4 = \boxed{16}$$

$$12 \times 8 = 96$$

$$4 \times 6 = \boxed{24}$$

$$11 \times 4 = \boxed{44}$$

$$4 \times 2 = 8$$

$$3 \times 9 = \boxed{27}$$

$$11 \times 1 = \boxed{11}$$

$$7 \times 4 = \boxed{28}$$

$$10 \times 1 = 10$$

$$1 \times 6 = 6$$